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Multiplication Practice — 2 Digits x 2 Digits Answers

2 3, 4
3] 6 4| 6 116 11 4
X 3 2 X 3 3 X 3 3 X 213
71 2 11318 4| 8 4| 2
1 1 1 1
11080 11318'o 4] 8'lo 2180
1 1 1
11152 115118l 50218 3|22
1
5 6 7 8
2|5 3|5 3| 4 4|3
% 3|6 X 51 6 X 2 |3 X 3|3
11510 21110 1101 2 112109
3 3 1
715 o 11715 o 618'o 1121910
2
9l oo 199 6|0 71812 11al1]o9
1 1
9. 10. 11, 12.
4| 2 4] 6 5| 2 32
X 2 5 X 1 6 X 2 6 X 5 2
21110 21716 301 |2 6| 4
2 1
sla'lo 4% 67 o 11ol4'lo 11lelolo
3
11ol5]o0 771 3 | 6 11352 1166l 4
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Long Multiplication Practice

-3 D

12.

16.

11.

15,

10.

14.

4 | 4 | 4|0

13.
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Complete the equstion.
1 3 (a) =
3= %6 : )

—

Write > 6r < in the O.
@
@

o —

=

3
() 246 - (9% 8)=_ITkL

(b) 166+ (8.-3) = 33

' B Lo 5
Calculate the angle (shaded)

between the hands o1 the
clock.

Measure this angle.

155°

6

Angle BAC = 80°

Angle BAD =150°

Calculate angle CAD.

- C
D Anglecap=.__10"

; ;

A ship is sailing on a bearing of 070°.
It then turns through an angle of-116°
in a clockwise direction,

On what bearing is it now sailing?
[

I
186

o :
What is the average of 16, 28 and 317

75 -3

9. 5:_

Find the total cost of 4 bulbs at 28p each,
and 7 plants at 32p each.

W2
n .y Y224

10
Betty had £10. She bought a book for 869

and two pens costing 18p each.
£8-56
A

(a) How much did she spend?

(b) How much was left?

11

Calculate the area of a
rectangle with-length 22 cm
and-breadth 9 cm.

2 s
1 ('l ‘6 i{m

Lovs o

{;\;,uif) L

Add two squares
~ to make the net )
of a closed cube. ‘ \

—

I’___ﬂ."



1 : Co m ﬁ)ifete. th e eq bation. -

®
®

(a)
(b)

EN (SRS J

Write > or <"In the O.

o=

[RIINY

3 [ “
(@) (7x6)-(4-3=_L|

59
(b) (1803—92)+4= 22,

5
Calculate the"angle

‘(shaded) between the
hands of the clock.

o))

Measure this angle.

Angle BAC = 40°

Angle BAD =.160°

Calculate angle CAD.
D

(&3

Angle CAD = _120

21

FO 6%

rectangle with length 24 ¢cm
and breadth 7 cm.

cuboid.

rectangles to make
the net of an open

7 N . 8 : '
An aeroplane is flying on a bearing of 250°. What is the average of 9, 25 and 387
It then turns through 75° in a clockwise ' i ; '
direction. ' _ 723
On what bearing is it now flying? 325
9 10
Find the total cost of 8 loaves at 29p each John had £8. He bought a birthday card for
and 3 cakes at 17p each. : 23p, and three postcards costing 15p each.
22% (a) How much did he spend?
[ N -
M (o) How much was left?
11 . 12
Calculate the area of a Add two
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(a). What is the number pair for A? . ‘)
. L |

(b) Mark & point B that has the number pair (3, 2).

N

A~

Write this number.

5 in the units place

1 in the hundredths place

8 in the tens place
6 in the tenths place

You are walking along AB, and get t6 B.
What angle must you turn through, to
fate in the direction of C?

T11°

|4

Complete these patterns. _ .
e BUOATOEBA B O

(b) 2233344445555 5 [

"5186
5 6 7
3.68 92.1 653

+2.79 —46.5 ~1.72

b 17 Esf L - 8l
8 9 10 11

34.7 +17 = 5|.] 1.3 +4.96 = 6-2f, 406 - 18 = 2.4 149 - 674 = &- 1§

12 i3

Round 7.46 to:

(a)

(b)

one place of decimals

F=5 .

the nearest whole
number

7

1

Give the values at A and B as decimals.




\

LI A : . ' ._

5 o ._-

4 -‘)\ (a) What is the number pair for A? L

3 . :.;.

2 (b) Mark a point B that has the number pair (3,4),

1 _ i

0 1 2 3 4 5 5§ 7 >

A . B You are walking along AB, and get 10 B,
E What angle must you turn through, to
98° _ face in the direction of C?
c o §2°
3 o 4 ;
Write this number. Complete these patiterns.
2'in the tenths place (a) O Q % D D % O D % D Q ;
5in the units place , ' '
1in the tens place e [
7 in the hundredths.place
25'7 (b) 11111222233. 3 2
5 6 7
5.43 81.4 9.68
+1.68 ; ’ —-32.6 -3.84
71 h- % 5-8L
9 ) 10 - - 11 "
268 + 15 = 1.9 7.4+ 2.89 = {0.74 627 - 29= 33-7| 8-315= L-8l
12 _ .
Round 8.87 to: Give the values st A and B as -decimals.
"(a) one place of decimals - : A B
8.9 IENNNRENERERE
(b) the nearest whole 5 6
{ number «

| | 9 | o 5-77 58_ bl

_ 1t .
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Caloylatecihie vs|ume of 2 CUbOI 13555 ing

2tcm hig’ﬁ-,_.;gucrﬁ"widé; B em long. "

How many days from April 26th.to May. .7-th?
(Don't count both the given days.)

L+

10

L4O¢m>
3 : _ _ o '
3 and 6 are-the first two multiples of 3.
Write the next four multiples of 3.
9 12 1S |5
4 - . - . - -
Write any multiple of 5 which is also 3 multiple of 4. .
20, L0
— — .
5 : 6 7. _
487 782 Use your calculator:
X 10 X100 Find the cost of 67 cameras,
% 70 18200 at £49 each.
£32¢3
8 9

Wl - . 2Ly 3
(a) 7) 81 LI- (b) 6) 147

10 -
Chris scored these marks in a test:

47, 88, 71.

What was her average score?

i | 6]

11

Find the total cost of 3 kg of potatoes at _
33p for a kg and 9kg of carrots at42p for a kg.

11 -
314 EL-95

12

to make a number.

For example 65 — 4 = Elor6'x (5 —4)=g.
.Make four other numbers,

-_—

\

" You can use these numbers: 6, 5 and 4 (in that order), and any mathematics signs you like,




—
Calculate the volume of a cuboid measuring

2 cm high, 3 cm wide, 10 cm long.
2m71lem=_271 cm. -

- {—rQ( i 3

7 and 14 are the first two multiples of 7.
Write the next four multiples of 7.

71 24 35 47

- * kY
Write any multiple of 6 which is also a multiple of 4.

1220 3k

5 ; 6 7

539 617 Use your calculator.
= 10 X100 Find how many chairs therz are if there are
5390 G100 27 rows, and 38 chairs in each row, -

o2 b

9
How many days from July 23rd to

August 6th?

(Don’t count both the given days.) Ge b ')
® gtven days. (a) 9) 87 (b) 8) 341

& 5SS )

10 : 4
Gemma saved these amounts in three Find the total cost of 4 kg of beans at 45p
weeks: 68p, 78p, 97p. What average amount for a kg and 8 kg of apples at 48p for a kg.
did she save each week? |40
; 36k

gp ES-th
12

You can use these numbers: 8, 9 and 1 (in that order), and any mathematics signs you like,
to make a numbér. by

For example 8 X (9 + 1) =80 0or8 + (9 x 1) =17.

Make four other numbers.




loweést term;

(b) a percentdge’:’ %

(2

A water tank holds 84 litres wheri
It has 9.3 litres in it.’ L
How much more water is needeéd

to fill the tank?

hat is the first number?

What number is 10 000 more
than 6?:7 8137

631 %13

6
14 m 68 cm 4.36 km
+ 27 m 49 cm . —1.79 km
b2 m VT 2-57lm
Find the perimeter of this rectangle. - Find the volume of this cuboid.
<
3.96 m
1 cmé
| =< 4 cm———5 ,
9. 1k D e
~<—5.62 m > C
10 . ] 119 5 _
Change 21 46 m1 to millilitres. 20 L {yml Change 1.78 kg to grams. |75>C‘(‘j
12 13

200 000 + 7000 + 80 + 6 = 207, 086

14 _ 15 17
Round 16 846 to: Write 4:25 p.m. as a How maﬁj’
24-hour clock time. minutes “
(a) the nea-re'st 10 | | o from the
it 450 6225 time showiy
. on clock &~
(b) the nearest 100 16 ta the time.
16, 400 Change .6 hours and shown on
28 minutes to minutes. B?
(c) the nearest 1000 e \ clock |
7. 000 A% L, 7 _




2

What part ot t{we large 7
square is shaded? ;/:/
Give your answer as: ;A;
(a) a fraction in Z/f—j :;;/4
owest terms g - Z
| o

(b) a perceniage ?!4'7,»

. Write

as a percentage.

25 %,

S~

w

A pair of shoes cost £20.
T0% discount was given,
How much was paid for the shoes?

A roll of carpet measures 28 metres.
A customer buys 8.7 metres.
"How much carpet:is left?

19-3.

Three is added to a number.
The resulting number is halved.
This gives 6. '
What is the first number?

A
Round 34 937 to:,
‘ 24-hour clock time.

the nearest 10

(a)

7
® 26 m 68 cm 5.14 km
+35m 33 cm —2.57 km
62m 1cCim 2-5 TVim
¢ Find the perimeter of this rectangle. " Find the volume of this cuboid.
A rch(\
| #
1.97 m
2cm
¥
<348 m——> , —
S 10-9m E» S— (7
10 N L _ oy .
Change 3 (62 m/to millilitres. 3CEA L Change 3.16 kg to grams. 5] l(:Oc,’
12 3 .
What number is 10 000 more 300 000 + 40 000 + 900 + 8 = 3kLo 408
than 805 1927 415,142 ]
1 15 . 17
Write 6:35 p.m. as a How many

minutes from
the time shown

1435 \ on clock A to
| 34,960 the time shown
(b) ‘the nearest 100 16 on ciock B?
2L GO0 Change 4 hours 32
3L, 900 minuies to minuises. A B
(c) the nearesti 1000 6 vl &8

35 0¢e

& 272




2
3
4

11

12

10

11

12

© LN e w;

‘Write 93 to the nearest whole - -

ANSWER
8 + 7000 + = 7808 __®O0O
£6-00 — £1-95 = £ £l..05
46 x 6 _ 276

X
749 Find the value of x. io]

85p + = £1-15 _ 20 p
5kg60g= g _ 50609
7c¢cm - 1.5m = mm 55 mm

£9:00 = 100 = p

9 »

275m= "m cm 2m 75 cm
% of 35 kg 28 kg
200min=h min 3 h 20 min
ikg + 130g+ g =1}kg 120 g
ANSWER
Divide the sum of 53 and 65 by 2. 59

The cliange from £2-00 was 43p. a
How much had been spent? £1-57

Find the prbducf of 8 and 8.
10 gift cards cost £1-20. Find the

cost of 1 card. , 12 p
Write the next two numbers of
this series. S

02 04 06 08 - | .5 L
From 360° subtract the sum of two 3 :
right angles. - 190 °

How many km and m are equal to :
1560 m? : | km 560 m

_number.

Change to 12 hour clock tlmes Use '

~a.m. or p.m. (a) 15.45 (a): 3 LSpim
“(b) 00.15 (b) - 15am

How many Whole ones are equal to
36 quarters?

How many tens have the same
value as 5010?

8 9

The sum of two numbers is 17.
The difference between them is 1.
What are the two numbers?

103

11

12,

ANSWER

Find the change from £5 after
spending £1-33 and £2-57. £E1-1D

- A car travelled 240 km in 3 hours.

What was the average speed in
km/h? 80 kmih

Find the average mass of the
three boxes. I kg

Grapes cost £3-20 per kg.
What is the cost of 2 kg 500 g?

By counting the o T
small squares find 4t 1.'.’
the two shapes
which are equal in

area. Name the two shapes. /¢ },,E!Z 1 jang Je

John had 150 stamps. He put 15 stamps

on each of 8 pages in his album.

How many stamps had he left?
This clock is 15 minutes

C fast. Write the correct time in
figures using a.m. or p.m.

9:53am

morning

" A pack of 4 tins of ham can be bought

for £5-12. Find the cost of 1 tin. £1-28

At a football match there were
12 498 spectators. Write the number

~ of spectators .

(3) to the nearest hundred @ 12,500
_J_,__O_O

These angles are equal.

(b) to the nearest thousand. .

(a) - How many right anglés _
are equal to the sum of the”

~ five angles? (a) i‘t _

(b) How many degrees are
there in each of the

five angles? (b) r /N

‘Share 80p between Ali and Katie so

that Ali has. 20p more than Katie..
Ali 50 p Katie 3D p

There were 2.5 ¢ of milk for 4
children. 100 m¢were spilt and the
remainder was divided equally.
What was one share?

600 me



10

11

12

10
11

12

; ANSWER
2.9 =  tenths 29 tenths
£4-07= p ZIQj p
3h50min = min 23 0 min
24p x 5 = £ £1-20
7x =43-8 5
76p + S5FIVES = £ El,0|
(1000 x 10) + (100 x 5) +
(10 x 7) 190,570
508m = cm 504 cm
Find 3 of 33. | 3“.
0.6kg—- g=340g 260 g
3320= ¢ me 3¢ 950 me
1p x 100 = £ £1]
ANSWER
Find the missing number in this series. :
1,10, 100, , 10000 | 000
_Find the product of 10 and 45. L50
How many times greater than I )
0.1is10? (00
What distance in km and m is twice - ;
as long as 4.8 km? 94 km (6D m .
Divide 52p exacﬂy’ by4. . i3 p
Fi'n.d the difference in pence between '
15 TENS and 40 FIVES. 350 »p
A journey of 7 km cost 91p. How .
much was the charge per km? _ 13 »p
Writé to the nearest 3 kg I
(@) 1kg620g ' (a) I.J‘z kg
(b) 2 kg 390 g. () 2% kg
Find the area of a rectangle 7 cm
long and 3 cm-wide. Give the unit of 2
measurement. _ . 2 cim
By how many pence is 3 of £3 ‘e
greater than g of £3? 1IQC »p

58 cmdivided by 10 = mm. 5 ‘6 mm

Write as a chimaI fraction of a kg -1
the sum of 3 kg and 450 g. "/g kg

10

1

12

ANSWER

-
[ amitt

What decimal fraction
must be added to the
number shown on the
abacus pictureto

equal 50? .7
What fraction of 28 kg is i i
@ 7kg (b)4kg? (@) Ti (b) —

By how many months
is 18 February 1994 later
than the given date? 8 ‘months

18/6/93

Write a quarter of a metre

@ 29 m

(@) incm

(b) as a decimal fraction of a metre. (b) A om
The radius of this
y circleis 0.9 cm.
X Find the length of
the line XY in mm. 1% mm

5 s

3 2
3 7 3 9

glwn

Which of these fractions is
(a) the largest

(b) the smallest? (a) ; (b) 3-
Y N Ao
A cyclist travelled 72 km in 3 hours. ‘
What was his average speed in _
km/h? 21 kmh
The bperi'meter of this.
regular hexagon is 7.2 cm.
. Find the length
of one side , S
(@incm @ 1-Z cm.
() inmm. (). 12, mm

PRICE | mass |100g|150g]200g|250g | 300g
CHART| cost [18p | x-|36p| vy | 54p

Find the value in pence of x and y

’LZ]_P)’&S’FJT

. How rhariy degrees are
é there in the angle
marked x ? . TJO -

AV

. Find the average
Amounts spent amount spent by

Tim 10p Jane 20p the children.
Saima 40p David 30p 25 p

David takes four 5-mespoonfuls of
medicine each day.

For how many days will 0.2 ¢last him? l': days



ANSWER ANSWER
1 + 6 + 9000 + 400 = 9456 50 1 How much change from a FIFTY
— * after buying 4 badges at 9p each? | b p
2 &= hundredths %8
2 Write as a decimal fraction the 9
3 £4-05 - 50p = £ £ 3 -55 difference between 15 and 155 o0
4 24 +24+24+24+ 24+ 24+ 24
: +24 (68 37 B 8/ 8 Howmanym!
; L remain from 2 ¢
5 10600mé+~8= m¢ 200 m! fter filling the
v ?
6 £360+-10= p 26 3 bottles?
- | 50
7 96cm-15mm= mm 4,5 mm R S
'8 £3-10 = 3FIFTIES +  TWENTIES TWENTIES 4 15th of November was on a
Wednesday. On which day of the
9. 102 - 52 7 5 week was the 29th of November? W P d cs:{cd
R 8km = 1700m = & km _6-3 km 5 Anaircraft left Gatwick at 11.00 and
g 3 _ : ad by 13.00 it had travelled 1850 km.
' .»»'11* zkg - 260g=" g —Lﬂu What was its average speed in km/h? G2 5 km/h
12 of£63 £L5
I 6. Write the number nearest to 99 o
! . which can be divided exactly by 8.
, T o 7 MunchBars are 63p for a packet of 6.
P How many times greater is £8 i ]
Sl fan 8p? . Find the cost of 2 bars 21 p
- #57 Find the diameter of a circle the _ : o : T —
i radius of which is (@) 5.5 cm @ If .cm 8 Mark 1 seore of the fourag
(b) 46 mm. ®) 9 :mfn , I;;c:[?]el 7| children was 8.
' - . g Jér?ny ew 6 i What was Matthew's :
3 Reduce 125by 99, 26 - - . — 1 | score? ~ S s B
24 Hew TRy hundreds #e there ol - . g The length of Pete's paéé is 50 cm |
10 000? AL A 100 95! - pas .
! —_— i How many paces does he take when
i . 2 .
-5 Multlply 55p by 10. o £5-50 ; walking 1 km?. L —20
6 How many hours in 3 days" 72 ' 10 Name this triangle
= "’ byitsangles -
7 Write in £s the total of _ ] _y .
v 7 FIVES, 4 TENS and9TWOS » £0-93 i 5105 celed
8 500 gcost28p. . ; <\
i Find the cost of 13 kg. i p
9 Multnply 9. 5 cm by 100. o
Write the answer in m. 945 m 11
10 Write’the sum of 4% and 3,—% o ) ’ I 850g I 5 IO 8kgi j Io Sina '
: as a decimal. 8-6
i 2 of a number is 9 : , Which two of the boxes together
I a - . s 2
What is the number? | - have a mass of 1.5 kg’ '7_

12 A 4:mlength of ribbon is cut into
5 equal pieces. 12 19rem. 5
Find the length in cm of one piece. 80 m 6] x Find thevalue of x. | {§



A . Answef
i 300 + 15 -+ 5000 53]5
2 45 FIVES =¢£ £ 2.25
3 2z of 1 metre = cm 271 cm
4 200 — 045 149. 55
5 The ninth month of the year is *_S_C{ll rmb e v
6 709 x 8 s 171
7 37 = hundredths 370 hundredths
8 17ip + 5ip + 20p = £ £ O-43
9 140g + g = 02kg GQ g

i0 £2300 = 5 £ !I c 60

11 0.7 litres — L litre = mi 200 me

12 & +2 L

—0—

B Answer
1 What number’is 32 greater than 2907 322
2  Write as a decimal )

5 tens plus 18 tenths. 51-9
3 How many FIVES muét be taken from
3 FIFTIES to leave £1-157? FIVES

4 How many eighths are there in 787 - é—‘;'
5 29th June is on a Friday. On which -

" day is the 4th July? wﬁ(}ln o<l {b_

‘6 Share 75p eq‘ually among 8 children. o i

‘Find - (a) how. much each , (a) C] P
(b) how mahy pennies are left. (b)‘ 3 p-
7 What_weight in kg is double =~ _
3 kg 750 g? T7-95 kg
8 Which of these numbers will divide ,
. exactly by both 6 and 9 without a : R :
remainder? 24 36 48 .63 36
9 ' Find the area of a playground 30m ' ' 2.
long and 18 m wide. ' 5& Om

10 Find the cost of 400 g at 25p per kg. 10 P

11  From 12 subtract ¥ + 2. : s

. —8—

12 How many

degrees in

. BDA (a) 75 °

 BAC? (b) iQ °

(a)

c (b)

12

C

Answver
1 Approximate
(a) 9.82 to the nearest whole one (a) 10
(b) £10-48 to the nearest £1 (bt 1D
(c) 3.25 kg to the nearest kg. () 3 kg

2 The kilometre reading on the instrument

in a car is 9946.2. What distance has
53 Gm

the car to travel for it to read ten
thousand kilometres?
3 What fraction in its lowest terms 2

is equal to (a) 8 out of 20 (a) /_f
(b) 25 out of 40 (b) 58
(c) 70 out of 100? ©) o
4 10 articles cost £2-40. Find the
cost of 3. 72 »p

5 John was born on 30.6."68. How old
will he be in years and months on
1st September 19807 {2 vyears Z months

6 Find the sum of the numbers between

60 and 80 which are divisible by 9. 13
b o
7 """"‘IIZ cm Find _
5 (a) the perimeter
g e g oftheshape
(@) 3k

x

12 cm

(b) itsarea.  (b) [, |, “,_"‘L

8 1000 screws weigh 4.2 kg. Find the

weightin g of (a) 100 screws (3 L2720 9
~ (b) 1 screw. (b) LZ g‘.

9 A shopkeeper.'bou'ght 6 balls for £1-32 '
and sold them to make a total profit of -
48p. For how much did he sell each .
- - 30 e

ball?. E
10 A caruses 7 litres of petrol to travel '
100 km. How. many. litres are required

for 1600 km? - 12 )

11 Three lines measure
0.04 m; 47 mm; 3.8 cm.
Find the difference between the

longest and shortest lines. " - ‘mm

48 centimetre
cubes fit exactly
into the bottom
of this box.

I The box is'd cm
B ) deep. How
” g cm many cm cubes

are needed to ) ,

5cm

il it?
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Write the numbers 1 to 20 down the side of a sheet of paper.

Write alongside these numbers the answers only to the following questions.
Work as quickly as you can.

Time allowed — 10 minutes.

L1 170+ 280 4S50
2 (3 of 45) — (7 of 63) 4]
T @xm+6x6) 100

4 (450 + 10) - (3500 + 100) 1D

"5 Write in figures
SHEEE S nine thousand and sixteen. 9016
euy The diameter of this
e circle is 1 cm 6 mm.

What is the radius
of the circle in mm? 8 mm

' Add the numbers between 40 and 50 which can be divided by 7 without
a remainder.

flight 3 2 5 3 5 25
J 8 r 5 I3 8 70 100 5
am—

0

Which of the fradions has the same
value as a half?

SRR (650 g e L kg 700 g

How rﬁuch more than 1% kg is the total mass of the three boxes? { 003

Flnd the cost of one pencnl if 10 pencus cost£1-10. . | IP

~ Aboy stands facfng West and tums left -
o through 3 right angles. In which direction
is he then facing?  nJ @ th

A Find the cost of 300 mt’if 3 £ costs 35p. 23 ?

If a car travels at a speed of 80 km/h, how far W|l| it travel from
9.30 a.m. to noon? 2 QoL M

q1

 Which 3 coins are given in change from £2 after spending 60p and 78p7 SOP l QP , 2 f.

e How many minutes are there from -11.17 a.m.to0 12.15 p.'m.? 59 mins

777777, , T
’RED} OTHER COLOURS
LA ] ] !
The diagram represents the 64 cars which passed a school in one hour. How many -
of the cars were blue? 3ig - 2 " v
What fraction in its lowest terms is 900 g of 1 kg? i

: - i0

18 Write to the nearest £ the sum of £3-80 and £2-69. £6

Find the cost of 100 buttons if one button costs 8p. s

{od 50% S0 Loed
) 16

; 20 ' 100 | 100 | 50 50 Write as £s the total of the contents
H TR P . FIVES TENS TWENTIES of the packetsl £2 l



Write the numbers 1 to 20 down the side of a sheet of paper.

Write alongside each number the answers only to the following questions.
Work as quickly as you can.

Time allowed — 10 minutes.

10

11

12

13

14’

15

17
18
19

20

- £10 bag of TENS.

Write in figures to the nearest hundred ‘
six thousand four hundred and fifty. ©500

Find the missing number of FIVES.
£1-65 = 2 FIFTIES, 4 TENS, = FIVES 5

In this set of the factors of 30, one is missing. Which is it? 5
= {1,10,15, .86, 30, 3, 2}

Write as a decimal the sum of 3 hundreds and 109 hundredths. {12
How many h and min from 11.52 a.m. t0 2.27 p.m.? Qh, 35m %
Ny -

By counting in the given order find the total value of the coins in the box.

'\l\sks 50 10 |o \l\l b 9Sp.

Find the total when 1.05 is added together 8 times. g ‘ Lf

A B The lines AB and CD are parallel. o)
3 Find the size of the angle marked x. L}5

2 of a sum of money.is 54p. Find the whole amount. 72 |D

26 x 8 = 208 Write the answer to 260 x 08 208

Onamapa road is shown as 9 cm Iong which represems a distance of 4 5 km Write and
complete the scale 1 cmto  m. , .
2 or 05

Take 650 mg from 5 litres and give the answer to the nearest 0.5 . Lr%‘z_L

A regular hexagon has sides each measuring 58 mm. Find its perimeter in cm. 31, Bem

V2OO g of beef cost 38p. Find the pricé of the beef per 3 kg. ‘th

The cnrcumference of a wheel measures 2 5 m. How many times will it turn in travellmg

500 m? 200 .

: . Ch
A garden plot measures 12.8 m long and 8 m wide. Find its area in m2. ]02 SRLY

Postcards are bought at 3 \p each and sold at 5p each How much profit is made
after selling 200 postcards? l_h

The weight of a 10p coinis 11.3 g Find the weight in kg of the coins in a

13Uy
How many 6 cm square tiles are required to cover a rectangular surface
measuring 54 cm long and 48 cm wide? y) 2

Of these 20 examples 6 were wrongly answered What fraction, in its

‘lowest terms, was correct? ~7

—

(O




Write the numbers 1 to 20 down the side of a sheet of paper

Write alongside these numbers the answers only to the following questions.
Work as quickly as you can.

Time allowed — 10 minutes.

Write the sum of £0-44, £0-56 and £1-55 to the nearest TEN. 2. GO

The circle is divided into three equal parts.
How many degrees are there in the o
angle marked at the centre? 120

A car travelled for 15 minutes at a speed of 48 km/h. |2 ”m
What distance did it travel? .

The circumference of a wheel is 1.25 m. How many m will it travel in 10 turns? 12 Sm
Make 306 one hundred times smaller. 3. () (
Wirite as a decimal the total of 20, 5 and 1. 20 -949

Subtract é of 27 from é of 45. 2 ]

Clock A is 10 minutes fast.
How many minutes slow is clock B? ZOmmo

) 6 3§
By how many m is 648 m less than 3 km? 102m

¢ Writa,tha decimal fraction which is half-way between 0.4 and 0.38. 39
co
8 9 9 9 4 This reading is taken from a dial in a car. It shows the number
4 : of km travelled. What WI” be the reading after travelhng a further

700m? - qpep -
lf one article costs EO 44 what will be the cost of 1007 I,JL.lt

Find the cost of 43 kg at 40p per kg. L 1-90

By how many snxths is 3 Iess than 3? A

| Which 3 coms were given in change from £3 after spendlng £1-28 and £1-567 . ‘OP SP P

o .3§I|tres +900me+ 600me = - ¢ 5.

lvl 06)(14] | @j@ﬁﬂ t_(_@—l L-@I LLLEUE—T

Which of these 24-hour clock times is nearest to twenty to seven in.the evenlng7 ”S 35 (J)

How many g more than 1 kg is the sum of 334 g and 286 g7 iZOJ

50 cm of tape cost 28p. Find the cost of 1.25m. 70P

6 cm

| Find in cm the perimeter
: of the shaded shape.

Zly cm




Number

Write in figures. |

nine hundred and sixty qt0 four thousand and six _J,006 one point one nine - §q
four hundred and eight Log ten point one o1 twenty point noughttwo 20.0 2
eight thousand and seventy_ 570 three point nought five 3-05

3000 + 500 +  + 9 = 3569 ¢o 7.0 + 0.5 + 0.01 = 7.5|
6000 + + 80 + 1 = 6881 400 10.0 + 0.4 = 1o L

3 + 40 + 9000 = Gou 6.0 + 0.02 = 6-02
(1000 x 4) + (100 x 9) + (10 x 3) = L4930 20.0 + 0.08 = 26.0¥%

456 =  tens + 6 units L, tens Write as a decimal.

903 =  tens + 3 units 4o tens 1 tenth O-| 5 0-9q
1875 =  tens + 5 units i%7 tens 1 hundredth 0-ol = 0-18
5102 =  hundreds + 2 units 5j hundreds 101 tenths io-| & 0.95
9040 =  hundreds + 4 tens 4o hundreds 105 hundredths i-08 2 0-20
Write the value of the figure underlined.

i

467 6 Lens | 3751 Thoadudy | 32.14 70 865.8 2.
8479 §_thouscns| 2008 Bualks | 10.95 Sac 40.06 £ 00
32.5 Quaits | 160.2 6 teny 0.56 e 20.02 2
How many times smaller is
5 than 50 o 96 than 960 o 0.6 than 6.0 10 | 0.3than 30 100
7 than 700 IOO_ 23'than 2300 (oS 0.1 than 10.0 oo | 0.07 than0.7 i
270 than 2700 10 54 than 5400 {c0 | 0.08than 8.0 io2 | 0.25than 25? i00_
How many times larger is '

~ 390 than 34 lo 400 than 40° ic_| 80than0.8 ic_ | 50than 0.5 100 -
4500 than 45 Lov 9000 than 90- oo 16.0 than 1.6 i0 0.4 than 0.04 io_
3100 than 31 (oc | 6140 than 614 io | 9.0than0.09 o0 | 17than 0.17? ico
7+8 1§ A7 +7 .21 -6 5 26-9 17
6+5 i 8425 _33 1B-8 5 . 2-6 16
9+9 .18 - 59 +6° - 65 159 & 43.-5. 38
4+7 _|j 5476 Q| 11-8 3 61-4 57
8+3 || 46 +8 5l 14-7 1 85-7 1%
9+7 b 7+89 q¢ 12-3 4 93-9 g
7+5 1 38+7 45 17-8 4 32-8 2,
5+9 ik 4459 €3 14-9 § = 54-6 LK
4+8 12 69 +5 1l 12-7 5 . 72-5  §1
9+4 i3 8+ 34 12 14-8 & 41-3 38
8+9 i 77+6 83 13-6 1 82-9 173
6+6 12 . 9+68 77 M1 -7 e 95-6 8§
348 i 4349 52 13-4 4 67-9 s
8+6 _y 6+87 493 . 6-7 9 56 -8 i
Find the value of x.

x-9=3 12 14-x=5 9 x+7=13 & 8+x=14 7
8 +x=15 7 . x-5= 38 13 12-x= 4 8. x-7=9 | j6
x—7=4 il 9+x=15 & 9+x=18 9 xX+9=17 S
X+2=11 Si x—8= 8 6 x-5= 7 i2



Number

7x7 Ly G (6x9) +8 L2 36 +9 by 30+8 J3rem. ¢
8x6 L8 (4x8) +7 39 49 = 7 7 16+9 | rem. 7
3x7 21 Gx7)+6 b | 30 +5 A 20+3 g rem. 2
5x9 ns 6x3)+2 20 72+8 q 54 +8 g rem.
7x8 5§ (1x9+5 il 24 + 6 N 80 +9 g rem.
6x6 3 2x7)+6 20 0+4 o 63 +8 7 rem. =
4x5 20 Bx9+6 33 27+9 3 20+7 2 rem. ¢
9x 2 1< (7x7)+4 5% 42 - 6 7 53+9 35 rem.
0x3 Io) 5x6)+3 33 64 +~ 8 ol 21+8 2 rem. §
9x9 g i (6x8)+5 53 40 = 5 g 3+5 o rem. 3
8x5 Lo (Ox5)+3 3 18+ 9 2 40 -7 5 rem. 5
6 x7 L2 8x8 +7 71 56 «~ 7 3 19+5 _3 rem. i
3x8 24 4%x9+5 t | 28 + 4 -3 69 +9 g rem. ¢
9 x4 36 8x7)+4 [4s) 32 -8 L 48 =7 & rem. ¢
4x6 24 @x6)+5 59 81 +9 q 16 +6 9 rem.
7X9 3 (2x8)+6 22 36 -+ 6 [A 45 +8 g rem. §
4 x 3 12 @x7)+4 379 35 =5 -1 57 -6 q rem. 3
9x8 72 (8x9) +8 20 54+9 g 31+8 3 rem. 7
7x4 2% (7x6)+ 4 A 48 -6 @ 61+7 g rem. g
3x5 i5 Bx6)+4 22 63+7 9 62+9 4 rem. g
Find the value of x.

5xx=40 g x+8=9 5D 36 +x=9 Lj
X+6=5 30 5% x =45 Q 4 x x= 24 [
xx7=42 6 XxX+9=9 3i 16 +x=4 L
27+x=/9 3 XX 4 =32 8 XX 8=064 g
9 xx=063 7 21 = x=3 yi X+4=7 2%
7 of 18 -~ 4 i of 28 -7 i of 20 $ of 45 |8
3 of 21 7 s of 0 g . % of 54 3 of 35 20
: of 36 ¢ 3 of 32 L § of .48 5 of 63 L9
s of 45 &5 % of 100 (O % of 70 % of 80 72
Find the whole number when , I . _
3 is 8 2L % is 6. - 30 % is 30 f,! is 16 20 -
i is 7 42 §.0s 9 72 7 is 21 fis 120 b2
3 is 4 3¢ wis 12 j20 3 is 36 % is 49.. 70
11x10 g ] 13010 . {3 1.3 %10 40+10  o.¢4
100 x 10 | go0 - 800 + 10 - &p 0.96 x 10 66.0+10  _¢.¢g
145 x 10 iLgQ 4620 + 10 !!62 0.02 x 10 03 =10 0-03% ..
15 x 100 i500 1900 = 100 13 10.8-x 100 70100 .07
120 x 100 . 120 00 6500 + 100 5 0.05 x 100 190+ 100 6.9
104 x 100 _1okgo | 10000 + 100  {go 1.13 x 100 403.0 + 100 4. 03
Find the missing numerator or denominator.

2 _ W 3_ 9 1_ 20 500 1
5 = 710 4= 5 oo 10 100 100 = "5
2 _ 8 5 _ _10 3 _ 60 3 _ 3o 75 _ 3
3 — 12, 6 — i2 5 icp: 10 100 100 — [P
5 _ _I0 2L _ 35 J_ 4 2 _ ¢ 20 _ 1
8 = 716 20 = Je0 25 100 10 = 7100 100 = "5




A 1am = o mm 0.01m = | cm 025m = 250 mm im = 25 <m
0.1cm = I mm 0.25m =25 cm 0.75m = <50 mm im = 50 <m
Tm = Jpp €M 0.75m = 75 cm 1 km = jego M %m = 75 om
0.1m = {g cm Tm = jgo0 mm 05km = 560 m im = Sep  mm
08m =_ g9 cm 05m= 500 mm 0.75km = 750 m im = 750 mm
B 18mm = g an i mm 390 mm = 3G cm 3258m = 3 km 258 m
307mm = 30 cm -3 mm 412mm = Li-2Z cm 5106 m. = 5 km jge.m
465cm = 4 mgsem | 800em = % m 8200m - @2 km
.1000cm -~ = - g m g cm 330cm = 3-3.m - 6500 m 65 km
/340cm = 3 m jom 785cm = 7-85 m 7750 m = 17-5 km
C 3000g = 3 kg 50006 = . 5 ¢ kg = S0 g
52809 = & kg %0 g 2884mt = 2 ¢ ggl.m! ikg = 25¢C g
8090g = 4 kg 90 g 6160m¢ =" G ¢ (LO'Me ikg =  7§0.9
.. 44009 = . -4 kg 7300m¢ = 7.3 ¢ 14 = .50C me
72509 = _7-25 kg 1 900me = 0-9° ¢ ie = 7S50 me
D 2409+ 240 g. = kg Yo+ .92 me = 592me 8209-07kg = 20 g
3709+ j30 g = ikg 1+ 135 ml = 634me '925mf- 08¢ ‘= 125 me
40649 + 4| = 1ikg 30+ 327 me = 827me¢ 0.6kg +60g = 66D g
2159+ 35 g = 7kg il+ (0 mf = 310me 0.25¢+120m¢ = 37p me
1989+ 52 g = ikg P04+ 479 mP = 425me 0.75kg + 2409 = 440 g
‘E work across the page.
"~ Wirite fo the
nearest whole number 193 20 105 {0 14.4 1% 11.5 12
nearest hundred 308 300 953 {000 1326 i300 2950 3c00
nearest £1 £17:09 £ i7 £4-83 £y £32:50 £33 £129-28 £i29
nearest cm 7cm 2 mm 7 com 109 mm it cm 39.6 cm Lo cm
nearest m 8m51cm qg m 730 cm T m 15.3m 15 m
nearest km 124 km 12 km 18km900m |4 km 78.5 km 79 km
nearest kg 4kg300g i kg 9kg 550¢g o0 kg 99.25 kg q9 kg
nearest } kg 6 kg 200 g & kg 12kg 3809 _2ij2 kg 5 kg 600 g 55 kg
nearest ¢ 50400 m¢ 5 ¢ 97600 m¢ T4 3.7¢ i ¢
F

Write the letter of the shape which is

a right-angled triangle

a rectangle

£
D

a rhombus

a parallelogram

&
_A

|

an obtuse-angled triangle

an isosceles triangle

8

F

How many degrees are there in each of the angles marked x, yandz?

h

Angle x

Angle y

0

RN

'Anglex jzs 2
Angle y 55 °



Money : Time

A  Write in each box the coins which make up the given amount. Use the least possible number of coins.

228 20‘0 1010 le 2P St)'p 2p 2p el 50‘#‘ iop Sp
80p | 505 20p iop 670 |s50p 10y 5p 2p 18p | Iop S5p 2 iy
26p 20p S'!, ‘llp 71p | 50 20p i 9 | 50p Sp 2 2p.
B Find the change from each amount.
Amount | Spent CHANGE Amount | Spent 'CHANGE “{Amount | Spent CHANGE
50p 24p 26 P 90p 81p q p £3 £2113 [£ 0-87
50p 35p i5 p 60p 52p g p £4 £125 £ 2.179%
50p 12p 34 P 30p 23p 7 p £4 £248 [£ |- 52
50p 37p i3 p 45p 41p L p £5 £309 |£ (-9l
50p 28p 22 p £1 24p 76 p £5 £246 |£ 2-5L
50p 19p 3 p £1 37p €3> p £5 £167 |£ 3-33
50p 23p 27 £2 £1-69 3j p £5 £211 | £ 289
50p 16p 3 by p £2 £1-06 9L p £5 £0-88 | £ Lyei2
C 10FIVES = 25 TWOS £750 = IS FIFTIES £255 = |2 TWENTIES, 3 FIVES
6 FIVES = 15 TWOS £10-00 = 20 FIFTIES £172 = ! TWENTIES, 6 TWOS
14 FIVES = 1 TENS £380 = iq TWENTIES £2:78 = |'3 TWENTIES, 9 TWOS
100 FIVES = 50 TENS £1000 = 50 TWENTIES £430 = 3K TENS, 1 FIFTY
12 FIVES = 3 TWENTIES £500 = 5p TENS £380 = 7 FIFTIES, 3 TENS
S50TENS = 25 TWENTIES | £750 = ' 75 TENS . £425 = & FIFTIES, 5 FIVES
45TENS = 9 FIFTIES £500 = (o0 FIVES '£290 = 4§ FIFTIES, 4 TENS
. B5TENS = 13 FFTIES | £220 = - ix\4 FIVES £164 = _3 FIFTIES, 7 TWOS
D 24p+36p+50p = £1-10 E135-60p = £0-75 | £224+£309 = £5.33
39p+41p+22p = £ I-02 £270-85p = £ |.$5 | E475-£280. = £ (.95
25p.+ 75+ 9 = E1-0 £460-99p = £ 3.61 | £162+£138 = £3.00.°
63p+28p+12p = £ {.pg3 £229 — £074 = £ 1-55 £150 — £077 = £ 0.7.3
82p+63p+15p = £ |-p | £320-£293 = £0-27 £387 + £045 = £ 4.32
E  Find the cost of ' '
E 5 kg at 25p per kg £ |-259 13 eat 28p ;'Jerrf R 0,'5 2 5m at £1-18 per m £ 590
;s 3%'kg at 30p per kg £ 1.05 3¢at55ppere: . £ .65 75cmatfTperm £ 0735
4%kgat20pp"er%kg £ 1:-90 2%t/at22pper£’ £ Q55 4%mat50pperm' £ 4,-50
2 kg at-50p per 200 g £5-00 | %eatGOppeMOOmt’ £ 3-00 1%mat20pper%m £ 6-5S0
63 kg at 60p per kg £ 3.90 7SQ m¢ at 26p per 70 £ 0-39 2mat30pper20cm.£ 3- 00

: F _‘ Write the times shown on these clocks (a) in 12-hour clock times using a.m. or p.m.

(b) in 24-hour clock times.
@ 7-Xlawy

OLE 2L , a) i2-k5am (@ 10.19 pm
(b) 07237 b) i3 72k b) oo LS b) 22 :19

morning afternoon morning evening




'P"W % SR &
‘CHECKING-UP’ G .
A @ (b) B C
5+ 6 NI 10 % 10 ioo (6 x6) +5 Ll 27 x 8 2i6
8 + 8 b 4 x 7 29 (9 x1) +7 16 49 x 6 AL
0+ 7 I 9 x 3 27 (5 x8) +4 Ll | 107 x7 LG
7 + 8 15 8 % 6 L& (8 x0) +6 b 93 x 10 930
4 + 7 i 1 x 8 % (10 x 5) + 8 58 180 x 10 1400
18 + 9 21 5 x 9 s (8 x 8 + 6 70 95 x 20 1900
15 + 8 23 7 x 7 9 (3 %3) +2 i 86 x 40 L0
3 +29 32 0 x 0 O (9 x 8) +7 79 100 x 80 _gooce
7 + 36 Ly 4 x 8 32 (4 x9) +5 Wl 98 x 100 G4 o0
14 +19 33 9 x 7 b3 (7 x 6) +3 b5 204 x 100 2eu0v0
2 = 5 7 24 + 3 KN 29 +3 4 rem 2 102 + 3 3
9 - 0 9 40 + 8 5 67 +8 R rem. 3 336 + 4 S
11 = 3 8 0+ 6 O 21 + 4 S rem. | 648 + 6 108
14 - 5 9 54 + 9 6 6 + 7 rem. € 590 = 10 59
15 — 9 6 7+ 7 e 39 + 5 7 rem. 800 + 10 80
24 — 6 i 42 + 7 b 70 = 9 rem. 540 + 20 27
26 — 9 i1 81 ~ 9 9 51 ~ 6 rem. 420 + 60 7
32 - 8 i 36 ~ 4 4 13 =7 i rem. & 1060 =+ 50 i
58 — 9 Ly 63 + 9 7 52 =5 i0 rem. A 4000 =+ 100 ko
47 — 20 27 56 + 8 i 4 =9 O rem. 2900 -+ 100 29
@ Write these numbers. E Write as decimals. F How many tenths equal
6.8 N
47 tenths e 14.9 ikq
Fifty thousand and seven 50,007 201 tenths 20 -1 3047 39_‘1
Sixty-two fhousand four hundred and two Gfl, [ WA 4 hundredths @ -Qly How many hundredths
One hundred and forty thousand and eleven 140,01l 309 hundredths 3 .09 equal
. Two hundred and six thousand and nine 206,008 580 hundredths &.420 0.93 97
30000 + 400 + 6 30, bots 603 thousandths §-o% 7.05 705
100 000 + 7000 &+ 50 + 8 , 197, 05% - 75t|1’ousandths 0015 3.2? 320
. (4 'x 1000) + (6 x 100) + (3 x 10) + & 4638 | 3009 thousandths3- ac§ | How many thousandths
(9 x-1000) + (7 x 10) + 5 - 9015 | 9+ 48 9-38 | equal ’
(3" x 1000) +.(4 = 10) e o) e 10+ 555, + 7665 (0-072) 0.003 -
1 million ' 000,000 | Stenths. + ° . ' 0.078. 18
© 12 million V. 500, 000 | 2hundredths ©-52 C 152 152
1 million 250,000 |- 17-hundredths and - 28 2900
2.7 million 2,700,000 6 thousandths - O- |76 4.097 K050
G i J
503 + 07 - §-73 | 645 x 10 6L.5 | 79 =10 7:§ - | ‘Find the value of x.
25 + 154 k.ol | 0873 x 10 g.73 | 402 +10 L-O2 X + 7 =24 47
0.06 +1.04  _«i_ | 203 x 100 203 | 34 + 100 0-3i 5 + x =32 21
37 +035 .05 | 0092 x100 4.2 | 107 +100 - o0-l07 X +15 =5 3-5
028 + 1625 |.4905 | 1.64 x 1000 lelho | 608 + 1000  &£.0% 31 —x =16 1§
10.053 x 1000 53 1035 + 1000 {.03S x - 63 =10 J&-3
2 -4 0-6 1.8 x 5 9 | 56 +8 o1 10 x x =25 2.5
1.4 - 09 0-§ | 4 x163 652 | 1025 =5 2.05 x x4 =18 L-5
100 - 875  1-29 0.09 x 8 0-72 | 0636 + 6 ¢-loé6 R
48 -376 . {-O0L | 7 x 208 ih-5¢ | 477 +9 053 &5 =08 -
07 - 058 ©-}2 1.063 x 6  6-37% | 8032 =38 i-ooly 9 +x=7x7 _4O




L]

"CHECKING-UP’

Am p = i v ) g 9p +3p +17p gu @ Find the cost of
2p = fo.02 15p + 8 p + 6 p 29 p 10 @ 15 peach £1-50
£0-63 = _ 63 p 14p + 7 p + 12p 233 p 100 @ 3-peach £3
£0-19 = 'ﬂ P 5p + 11p + 15p + 4p 35 p 9 @ 13p each g1
£0-04 = k P 6p+19 +21p + 18 p €4 P 8 w27 peach £2.{k
£1-37 = 13 TENS 77 p 37p + 85p £j.22 5 @45peach f2.24
£3-09 = 20 TENS § p £1-03 + 49p £i-S2 19 @ 4p each 16 p
£10-80 = ic{ TENS o p £2-57 + £0-60 £3-47 27 @ 7peach. £}-€49
Find the cost of 1 when
7 TENS + 6 TWOS XL p 43p — 19 p 2L, p 10 cost £2:70 21 p
3 FIFTIES + 9 FIVES £1-95 95p — 18p 77 p 100 cost £5- 5 p
3TENS + 5 FIVES + 9p 6l p £1-10 — 84p 26 p 6 cost 84p T
f0-85 = 5 TENS + FIVES 7 £1-70 — 93p J7p 4 cost £0-72 1% p
£0-68 - = 12FIVES + pence & £2-30 ~ £0-80 £i-50 7 cost £2-24 32p
£2-30 = 3 FIFTIES +  TENS B £2:06 — £1-40 6t p 9 cost £3-06. 3 P
ﬁ Find the change from E Make up the given amounts using the least
1 TEN after spending (a) 3 p 7 p (b)1.p q »p number of coins. The first one is dane for you.
3 TENS after spending (a) 22p g p (b)20p o P AMOUNT | 50p | 10p | 5p | 2p | 1p
1 FIFTY after spending (a) 37p 13 p (b )19 p 3jpp 23p 2 1 1
(c)26p 24 P (d)5 5 P 39p 3 | ) 2
£1 .+  after spending (a) 81p 19 p (b) 66 p i P 67p I | | i
' (c) 45p 55 P (d)7 p 9% P 78p i 2 i { ]
£5 note after spending (a) 73p £,.27 (b)£4-089 ¢qj p 86p " 2 i i
(c) £2:64 f2u( (d)£1:98 £3.07 94p \ m 2
F 84cm 7~ = 0%l m_ G 20.4 cm = 2ol mm H Find the cost of
309 cm = 3.0¢ M 1.5m = S0 mm 500 g @ 78p per kg 3% p
1076 mm = |.g1S m 2.65 m = 2650 mm 100 g @ 50p per kg 5 p
2306 mm = 92.205 m 0.85 m = {5 cm 250 g @4Op perkg i0 P
750 mm. = 027280 m 8.37km - =" £370 m 200 g @ £1-20 perkg ©- 2i P
100 m = O-]1 km - 0.6 km = EocC m 1.5 kg @ 64p per kg 46 p
925 m = 0925 km 10.076 km = joo7S m 100g @45pperi kg -9 p
1605 m = 1 (0S8 km 1.325kg = (% g 300g « £1-10perikg H6 P
860 g = 0:ge0 kg 005kg = - 50 g 25 cm' @ 8&p perm 22 P
1400 g = -l kg 372kg - = 3720 g 10cm @ £3-50perm” 35 p -
700 me = o1 & | . 138 . = 13co md 60 cm @ £2:20 perm  £1-32
3310me =_. 3 3io L . 4251 = L2950 mg . 130 @60ppert 18 p
: ‘ ) , - : 800 me (@ 50p perf. LD P
' How many R J Change to 24-hour clock times. ( Find'the period of time between’
‘minin 2 h 45 735 am, . 01:35] 835am.and1016am. 1 h &1 min
minin13h .~ 75 1205 p.m. = 12105 5.25 a.m. and noon é h 33 min
s in-5 min 300 3.27 p.m. 1527 4.30p.m. and 7.20 p.m.. 2 h S0 min
weeks in 1 year 52 10.55 p.m. 2259 11.35 and 14.15 2 h kG min
days in 1 year 365 Change to 12-hour clock times. 03.40 and'06.10. 9 h 3 min
days in April 30 Use a.m. or'p.m.
days in July 3 £ 09.20 _ _4-20am How many days inclusive
days in October? 31 14.56 256 pM from 28th Jan. to 9th Feb. I3
‘ 0035 _12.35Sam| from 17th May to 5th June ~ _19
21.16 G 1b FM from 26th Nov. to 3rd Jan.? 39



‘CHECKING-UP’

A Fill in the missing numerator or denominator.

3_ V2 . 2__8 . 7__2i  5_ 15 4 4 3 _ 30
Z %6 ' 3 12 8 24 & 718 ° 5 5o 10 igo
Reduce each fraction to its lowest terms.
z = .22 = 2 2 - L %:i;%:l ;%%:ﬁﬂ
Change each improper fraction to a mixed number. 5
2= wk ¥ -eg % -5 % <42 in -9l :¢ -3k
Change each mixed number to an improper fraction.
73 = 31 - 82 = _1’__ I 5 = 29 97 — ___“:L . 2 é?— . 5 €5

s = o %% < 3 B T = Ve T E 42 = - 2 108 = —

g Write as a fraction in its @ Find @ Find the whole when
lowest terms. )
Z .

50 of 75 ) 20f 70 L2 $is 35 210
30p of £1-00 240 2 of 64 KO 21is 27p 36 P
25cmof 1 m i L of £1-20 AL p £is 36 cm k5 cm
12 kg of 30 kg U5 50of4219 35 % is £1-40 £2-00
70 of 100 210 20f350¢g 200 g £is800g i200 ¢
800 g of 1 kg %/i0 =% of £1-00 13 p £is 5000 4000
400 me of 2 £ ‘5 2 of 1200 400 2is2410 6ip 0
45 of 100 9/20 23 of 1 kg. 350 g =% is £1-80. flL.00

Write as percentages.
(a) 33 outof 100 33 % (b)87 outof 100 €7 % (c)9outof 100 9 %  (d) 45 out of 100 L5 %

(a) 0.65 6S % (b) 0.38 3% % (c) 075 78 % (d) 0.3 3 %
B B 29% (b))  E5 956% (o) 1% % (d) 33 15 %
Change eachAraction first to hundredths, then write it as a percentage. . '
19 - 38 3& o 3 12 13 _ 65 )
a) — = —>~— = % by — = = 2 % c) — = —=— = )
@ 5 100 T 100 A2 % @ 5 00 - €9 %
@3 =22 - 35 % o2 -8 _ g% (9 L --T° _ 3504
v 4 100 - 5 100 I : 10 100 e _
- Fiftin the blank spaces in each of the columns marked a—m: The first is done for you.- =
(@ . (b) () - (d) (e) (B (g) (h) @) .G K () (M)
owesT 1eamsy | F Lo |32 122 b (22 le gl
DECIMAL FRACTION - | 05 | 0.25| 075 62 | 04 |(o | 08 |©j [03 167 |09 lo.es|001.
- PERCENTAGE - | 50%[25% | 75% |20 % | 0% | 60% | 42 % | 16.% |30 % 70% |96 % |5% | 1%
F Find the value of ‘ G Find the value of vy @ H " Find as a percentage.
25%0f 120 © 30 | = 50%of1dp .  k..p - |  6of24 25 %
50% of 35 i7-5 20% of £6°50 £ 1-30 7% of 15 50%
75% of 400 300 100% of 93 p 43 p ) 40p of 50p RO %
10% of 1000 (60 10%of 25kg  2sp0 g 93p of 93p lco %
30% of 90 & 5% of 4 4 200 mi . 200 g.of kg Ld %
70% of 200 140 30% of 2 m 60 cm 700 meg of 1 8 70 %
90% of 160 § ey 1% of £1-00 Ip 25p of £2-50 id %
20% of 95p . 19p : 7% of £1-:00 y . £1-50 of £2-00 15 %
40% of £20 £ 3% of £3:00 - 4 p 7p of £1-00 _1.%
60% of £15. £qg 12% of £9-00., £1-0Q . 30cmof1:5m. 20 %




